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- TR mig%kst& L
IEER,
BT-3 | B3 C-3 D-3 E-3 BT2 | B2 C-2 D-2 E-2
LT 552 | 12.00 6.00 3.42 8.00 400
L2 14.22 1800 | 1800| 1800 5.96 8.00 8.00 8.00
L3 12.04 1199 | 1199 | 1199 5.99 5.99 5.99
L4 14.81 600 | 1794 | 1794 6.00 6.00
L5 1404 | 2400 | 24.00 234 4.00 400
LB 702 | 1200| 1200 4.68 8.00 8.00
LB-2 702 | 1200| 1200 4.68 8.00 8.00
LT 1053 | 18.00| 1800 234 4.00 400
L8 15.60 6.00 554 | 1708 | 1154 6.00 6.00
LG 8.34 3.00 6.00 6.00
L0 1.29 4.38 5.60 4.00
5 11044 | 9738 | 13147 | 6501 | 4153 | 2902 | 4200 5399 | 2599 | 13.99
- TR mig%kst& R
IEER,
BT-3 | B-3 Cc-3 D-3 E-3 BT-2 | B-2 c-2 D-2 E-2
Ri1 3.51 6.00 6.00 2.34 4.00 4.00
R2-1 702 1200| 1200 468 8.00 8.00
R2:-2 702 | 1200| 1200 4.68 8.00 8.00
R31 702 | 1200| 1200 4.68 8.00 8.00
R3-2 | 1053 | 18.00| 18.00 4.68 8.00 8.00
R4 1404 | 2400 | 2400 2.34 4.00 4.00
RE-1 702 1200| 1200 468 8.00 8.00
RE-2 702 1200| 1200 468 8.00 8.00
R® 702 1200| 1200 2.34 4.00 4.00
a 70.20 | 120.00 | 12000 35.10 | 60.00 | 60.00
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1 TR 3R T (LT )
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i1 BT1 ETY [ 1 T
Ley (]
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g Ed |E.: |B I B3 g
Gl B —
L3 10000
rEEF » L imm w HIH1/H2} {mm}
BTH! 1905 BT2 Einfien  age/ass ]
Einfien  ass/azg L i
na0s BT3 Einfiel  963/923 L {E
Einfien 923282 L i
B 1993 B2 = i}
2905 B3 2 3 &
cRl 1908 C2 = |
o9a C3 = 2 |E@
St 16 iE
JFEa s N— 1 {30-8-25 N)
AR FL— AR L L o
LA R ) DT
BTEY 0.046 X 10 = 0.480 o
RHE 0.046 X0 = 0.000 o
BAY 0.092 X2 = L0 g
cH 0.196 %10 = 190 o
ifix ] 0. 299 ® 0 = 0.000 o
EEY 0. 469 %0 = 0.000 o
S8 A = 4. 280 m . 26 g




B sk
IEEF (3D345)
D13 0. 000 kg DI3LLTF 0,000 kg
D16 139. 160 kg D16--D25 340,460 kg
D19 0. 000 kg Do9LL £ 0,000 kg
D22 401. 300 kg
D25 0. 000 kg
D29 0. 000 kg
D3° 0. 000 kg ot 340,460 kg 540,450 kg
AR e, ]
= Al A—1t
oA S Hl = 3. 15 t
s E H2 = 3,830 m
FEigEs H= 398 m
Am 0 200 W 3808 1) = .79 o TR0 g
=2, 7—F 2 7T
3wz —F (24-8-25 BB}
ERE T 0.400 m
EFE B 5,200 m
MELEE Lf = 10,000 m
EELE L 10,000 m
TR L 10,000
V'm 0,400 x 3,800 % 10,000 = 15,800 o 18,80 o
pel b
Am 10,000 = 0,400 = = 000 o 00 o
R 150345}
D12 492 272 kg DI3LLTF 490,573 kg
D16 0.000 kg D16=-D25  33%&17 kg
D19 0.000 kg Do9LL £ @, 040 kg
D2e 339.612 kg
D25 0.000 kg
D29 0.000 kg
D3° 0.000 kg ot 531,834 kg 831.834 kg
-3 EET
gL =2 —1+  (18-8-25 BB}
vo= 0700 % 3400 x 10,000 = 3,400 o 240 o
2 B
A= 0,700 % 10000 ® 2 = 2000 g SO0 4
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1998 BT2 FigEt)  002/963 1@
o998 BT3 FimFE 114071100 1 {8
2998 BT3 Fig#tl  1100/1060 3
998 BT3 FigFtl 1060/1019 1 @
BHEY 1998 BH2 b=k S 1@
7993 BH3 s 3 @
cH 1998 C2 ki3 <@
2998 C3 =k S {E]
DE 1998 D2 b=b 3 | @
2993 D3 B - @
EEY 1993 E2 B L @
2998 E3 =k S - @
i"n'-"' 40 {@
L — | (30-8-25 N
HAFL— Bt 0 i
i = iR
V- AR SRR
BT%: 0046 0398 pf
BhE 0.046 } = 0.598 m
B 0.092 = 0.000 p
ot 0196 = 5.096 o
D 0,299 s, 7.773 ¢t
ET 0.469 J; 12194 n'
it WOk 26,060 g 5,26 m

44




B =g
3 EREE [5D34a)
L13 0.000 kg DL3LLTF 0,000 kg
L1% 480, 458 kg DI6=~D23 1422, 408 kg
D14 1041, 930 ke [aL k 1637.974 ke
paz 0,000 kg
Do 0,000 kg
pa 1637, 974 kg
D3z 0.000 kg Bt 3060 382 kg | 3060 381 kg
+ e (h=200)
42—t
mAmE Hi = B2 m
mAE H2 = 467 m
FHEE H= 7.888 m
A 0, 200 W V. 508 A 0 19643 g 19,64 g
120 Tl T
B2 — | (24-6-25 BB)
ERHTE 1™ 1000 m
EMIE B = T.200 0m
FEZLE Lt = 15,000 m
EEELEE Lb= 13,000 m
THEE L= 1,000 m
m LO00D = T.200 % 13,000 = 53, 600 o 9160
TR
A= 15000 = |.Q00 = a2 = 5,000 g7 %00 g7
1) t5ha3a)
D13 5oL 728 kg D13ELTF 853,729 kg
L1% 1957, 006 kz D&~[P25  3837.730 ke
D19 0,000 ks oLk 0.000 ke
paz 0.000 kg
paa 2580, 735 kg
pig 0.000 kg
paz 0.000 kg EE 4601468 kg | 28901 468 kg
-3 =W T
LsHLaws l=F (16-8-25B8)
m 0,800 = T.400 x 13, 000 = 860 o 962
TR
A= 0400 X 1% = 3 =260 3,60 m
-4 BT [(IF3ERFAFI=20mm
1) T
) Fe=FeTE
A= 1,000 = L0s 1 = 1,013 m 1.0% o




B
3K
At

it

-
1 TR JOusgsT (L3)
|-1.srE= T
%Q?P %@'
8 8 e
RS S
./ s 4
i
S
riET T ey L imm m E H{H1/H2] (mm}
BTH! 998 BT3 FKimftn  1178/686 | {48
998 BT3 Fimftl  1186/682 | @
9%  BT3 KIEEY 11401178 455 | f@
BHE! 2998 BH3 = 1@
2986 BH3 (i1 3 | @
CE 1995 G2 L=k 3 ;@
1995 C3 gk 3 i @
19% G2 c133 | 1@
9% C3 c133 | @
D& 1995 D2 b3 @
2995 D3 b 3 1@
198 D2 LET S | @
9% D3 LET S | @
ERY 1998  E2 bk ]
299%  E3 mE {E]
19%  E2 tE253 | @
9% E3 LET7 S | 1@
o 26 @
L=~k (30-8-25N)
AR — BT D p——
-G (R :
BTE 0. 046 = 0414
BREY 0. 046 = 0.376 i
B 0. 092 0000
(ki) Q. 196 3.5%%8 m
D 0.799 5.381  of
ER 0. 469 - B.HI nf
&8 ¥ = 13,047 o 15,04 o




B =g
IERgE (5D34E)
L13 0.000 kg D1ALLTF 0,000 kg
L1% 006, 374 kg D16--D25 967,590 kg
p14 711. 216 ka paapl B 1133. 982 ke
paz 0,000 kg
Do 0,000 kg
pa 1133, 952 kg
D3z 0.000 kg Bt 101573 kg | JI0LST2 kg
+ e (h=200)
Al
mAEa H1 TBET  m
mAE H2 = .65 m
FHEE H= 718 m
Ao 0, 200 ® T 1483 a n 13,4929 m 12,93 o
120 Tl T
Lass -t (24-5-25 BB}
ERHTE 1™ 1000 m
EMIE B = T.200 0m
FmEE Lt = B.488  m
EEmER [b= B.988 m
FHEE L= 2088 m
1o 1000 = . 200 x 8. G858 & 537142 o 671
TR
A= BUSR X LO0O A 2 = 17,96 o 17.98 o
1) t5ha3a)
D13 586. THL kg DIZELTF 286, TH kg
L1% 880, 867 kg [16~D25 2689701 kg
] 0,000 ks DERLL B £ 000 kg
pIz 0.000 kg
paa 1808, 925 kg
pig 0.000 kg
paz 0.000 kg H 3276 083 kg 3ITh. 583 kg
-3 =W T
LHLars =k (18-8-25B6)
1o 0,800 = T.400 x 8. G858 = 6631 m f.85 m
TR
A= 0. 100 B.O9BE = 3 = 1.798 .20 g
-4 BT [(IF3ERFAFI=20mm
1) T
) Fe=FeTE
A= 1000 = T.200 » 1 = O o 7.20
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998 BT3 FIEE 11777673
2993 BT3 FIRED  1173/668
974 BT3 Fimhwbk 170 BH
BHE! 299%  BH3 b=k 3
BE 995 B3 b= S
(-] 1998 C2 k3
2998 C3 k-3
2974 C3 EE253
DE 1995 D2 b=k 3
1995 D3 =
974 D3 5253
=5
TMEE T % — | (30-8-25 N
AR — AL O e
7 i E‘E'T'A;
Y- AR (R
BTHy 0. 045 2 0.o00 m
BHA 0. 046 0.276 o
B 0092 0550
Il 0196 - 4.704
DI 0,209 = 7.6
E& 0,449 = 0.000 g
& Ty = 13.260
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(=2 B} i fa
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28

LEEgy 5D
D13
D14
b19
paz
Dla
p2a
D3z

1) AR
F1a—ft
B
BEE
FaEs

T Bt

3T

D13
D16
D14
[Elgs
bla
b4
D3z

IR+ B

DELs Y —h

T Bt

0,000 kg
268, 814 ka
392 072 ke

0,000 ka
0. 000 kg
1511. 976 kg
0. 000 kg

(24-6-27 BB}

10.957 = 1.000 =

13054

546,456 Eg
1479, 756 kg
0.000 kg
0,000 kg
0,000 kg
0,000 kg
1003, 104 kg

(18-8-23 BB)

0,100 = 8900 =

0 A0 = 140957

D13ELF
D16~[23
PogLL E

wdt

5 a3

F-=F =3

DIELUF
D16~D23
DI9LLE

&t

10, 957

ra

0. 0
67, 53
1511. 976

2179, 872

13033

= 23.33%

= 21.914

$49.4536
1179. 736
3003104

5332. 318

kg
kg
ke

kg

kg
ke
kg

kg

179 872 kg

1304 o

#3332 316 ke
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2998 A1 =E = @
& 1995 ©7 =y @
998 03 -+ 2 = @
o 25 @
N¥FEIL N~} (I0-B-2FN)
FAFL— BN D I
A HE R AR Ll
BTE 0.046 4 0.644
BRE 0.046 0.000 o
BRI 009z 28 YL
CEl 0. 196 oy = 3.488 n
DL 0,299 = 0.000 g
ER 0,469 = 0.000
&8 £y = 5.708 o 871 o
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L=z —Fp

-1 E®|T

DRELaFF =

MR
EHIE
FmES
EmEE
THES

D13

D16

014
piz
Dia
Dza

D3z

0,000 kg
267, 764 kg
0,000 kg
0. 000 k2
0. 000 k2
1559936 kg

o 090 kg

1 hu200)

0. 200 #

(24-8-25 BBH)
hE 0,700
B = =700
Lf m 4,000
Lb= I4. 000
L= 14, 409

RIFO0 X

I4.000 »
1a054s)

1421, 411 k2
E7H 454 k2
0.000 ks
0,000 ke
0,000 kg
Z686. 444 ke
0,000 ks

(18-8-25 BB)

00 =

-+ B+ T (ITARRAFI=20mm

1) FHst

B.TOD X

0.7 =

B. 9D =

12, 000

5. 700 =

DI3LLTF
D16~D5
piopl k

it

14

£ = = A |

=

14, 900

DEELF
ple~[2a

paoEl E

it

14, 900

0. 000
D67, 764
1859, 236

2127.7%0

= I+ 476

=-85. 250

= 19 600

1421 411
579 454
esh 444

4387, 303

= 13. 460

kg
kg
kg

kg

ke
ke
kg

kg

14.48

8596 o

19,60 o

4387309 kg

1246 o
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& 1998 C2 k3 @
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Bt 20 @
N L — | (30-8-25 N}
RARHL— @At O —
Ty bR (' AR At
BT 0.046 0.460 o
BRE 0.046 0.000 o
B% 0097 an 1840 m
CRl 0. 196 i = 3.970 o
D& 0.299 = 0.000 g
ERl 0, 464 = 0.000
& ok = 6,070 6,31 o
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W by
3 [53D343)
H 0.000 kg DIBELTF 0,000 kg
L1% 191, 260 kg D16=Doa 191,260 ke
D14 0,000 Ka 29kl b 1308, 540 kg
paz 0. 000 kg
(¥ 0.000 kg
pza 1538540 ke
pas 0.000 kg i 1519. 800 kg | 1519.800 kg
Lo 1bsl0)
A la—id
A= 0. 24 e | in = 0.0 m 13,34 m
1-% J==F 2 JT
=z )—F| (24-8-25 BB)
R MR 1= 0,700 m
EME B = %200 m
mEs Lf = 10000 m
EmEE Lb= 10000 m
THEE [ m 0,00 m
T8 GUF00 % QM0 x 10,400 = da. 400 gt 64,40
e
Aowm 10.000 = 0.700 » i = 15000 g 13,00 o
1) 15033a)
p13 1069, 334 ks D13ELF 1069. 334 ke
L1% 864, 606 Ea e i 669,608 ke
p14 0.000 kg Lol b 2031 196 kg
pas 0.000 ks
poa 0.000 kg
paa 2051, 1% kg
D32 0.000 kg &t ITO0. 136 kg | OIS kg
-3 EET
LHELaws =k (18-8-25BB)
T = GOi00 % 9400 x 10,400 =g 400 .40 p
7 Bl
Aowm 0,100 = 10,000 i w 3000 ot 3,00 5
1-4. BT (ITZ2k11=20mm
1) TSt
B B b - 1
4= GoT00 = 9200 x i =640 Godd m
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& 1998 c2
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NEiEma L l— | (30-8-25 N)
LU e
A MEIR (PR il
BTH! 0. 046
BhE 0046
BT 0.092 o
cal 0. 196 i
D&Y 0.299
E& 0, 464
'.":’:"E"‘ LR

o
=

FKighvh
FKighvr

P
i

P
P

H{H1/H2) (mm}

1168
1168

0.450
0.000
1840
3.920
0.000
0.000
6.720
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W by
3 [53D343)
H 0.000 kg DIBELTF 0,000 kg
L1% 191, 260 kg D16=Doa 191,260 ke
D14 0,000 Ka 29kl b 1308, 540 kg
paz 0. 000 kg
(¥ 0.000 kg
pza 1538540 ke
pas 0.000 kg i 1519. 800 kg | 1519.800 kg
Lo 1bsl0)
A la—id
A= 0. 24 e | in = J0. 340 m 13,34 m
1-% J==F 2 JT
=z )—F| (24-8-25 BB)
R MR 1= 0,700 m
EME B = %200 m
mEs Lf = 10000 m
EmEE Lb= 10000 m
FHEE [ m 0,00 m
T8 GUF00 % QM0 x 10,400 = da. 400 gt 64,40
e
Aowm 10.000 = 0.700 » i = 15000 g 13,00 o
1) 15033a)
p13 1069, 334 ks D13ELF 1069.334 ke
L1% 864, 606 Ea e i 669,608 ke
p14 0.000 kg Lol b 2031 196 kg
pas 0.000 ks
poa 0.000 kg
paa 2051, 196 ke
D32 0.000 kg &t ITO0. 136 kg | OIS kg
-3 EET
LHELaws =k (18-8-25BB)
T = GOi00 % 9400 x 10,400 =g 400 .40 p
7 Bl
Aowm 0,100 = 10,000 i w 3000 ot 3,00 5
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A4 2,425 60%2 = 27.10
A5 {(2.12-0.20) X5, 60X 2 = 21.50
A6 020 2X5.60X2 = 3.17
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BT iR AR 2.12X5.60 = 11.872
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HERD $kah B R

o | m | LS| T e | e | G | ® R

F1 D16 6220 22 1. 560 9.703 | 213.466
F2 D16 8320 6 1. 560 12. 979 77.874
F3 D13 1250 44 0. 995 1. 244 54. 736
F4 D13 2290 12 0. 995 2.279 27.348
F5 D13 3880 98 0. 995 3.861 | 108.108
F6 D13 5370 34 0. 995 5.243 | 181.662
F7 D13 3200 32 0. 995 3.184 | 101.888
F8 D13 5870 4 0. 995 5. 841 23. 364
F9 D13 1890 18 0. 995 1. 881 33. 858
F10 D13 3880 6 0. 995 3. 861 23. 166
F11 D13 780 6 0. 995 0.776 4. 656
F12 D13 910 2 0. 995 0. 905 1.810
F13 D13 940 46 0. 995 0.935 43.010
K1 D13 350 64 . 995 0. 348 22,272
K2 D13 400 16 0. 995 0. 398 6. 368
K3 D13 810 88 0. 995 0. 806 70.928

D13 703,174

D16 291.340

& Bt 994.514 kg
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ZED - AER BREER
o | @ | NS e | e | G |
51 D13 1430 53 0. 995 1. 423 75.419
52 D13 1550 53 0. 995 1. 542 81.726
53 D13 400 49 0. 995 0. 398 19. 502
S4 D13 440 4 0. 995 0. 438 1. 752
$5 D13 6170 10 0. 995 6. 139 61.390
S6 D13 6170 10 0. 995 6. 139 61. 390
ST D13 380 26 0. 995 0. 378 9. 828
D13 311.007
& gt 311.007 kg
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FHEL BE BN

F1 D16 8320 27 1. 560 12. 979 350. 433
F2 D16 5290 8 1. 560 8. 252 66. 016
F3 D13 2290 62 0. 995 2.279 | 141.298
F4 D13 3880 27 0. 995 3.861 | 104.247
Fb D13 3070 8 0. 99 3. 085 24. 440
FG D13 5480 34 0. 99 5.453 185. 402
Fi D13 5490 36 0. 99 5. 463 196. 668
F8 D13 940 62 0. 995 0.935 57.970
K1 D13 350 132 L 995 0. 348 45,936
K2 D13 310 45 0. 99 0. 806 36,270
K3 D13 650 63 0. 99 0. 647 40. 761

D13 832,992

D16 416, 449

& & 1249.441 kg
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F1 D16 6960 20 1. 560 10.858 | 217.160
F2 D13 2030 40 0. 995 2. 020 80. 800
F3 D13 3050 20 0. 995 3.035 60. 700
F4 D13 2570 12 0. 995 2. 557 30. 694
F5 D13 3800 16 0. 995 3. 781 60. 496
FG D13 940 4 0. 995 0.935 3. 740
F7 D13 2870 4 0. 995 2. 856 11.424
F8 D13 3890 30 0. 995 3.871 | 116.130
F9 D13 3960 4 0. 995 3. 940 15. 760
F10 D13 940 40 0. 995 0.935 37. 400
K1 D13 350 63 0. 995 0. 348 23. 664
K2 D13 810 44 0. 995 0. 806 35. 464

D13 476,262

D16 217. 160

& &t 693.422 kg
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Bo ) & | | e | e | G | B
Fl D13 4790 21 3. 995 4. 766 100. 086
F2 D13 1560 42 (0. 995 1. 552 65.184
F3 D13 1790 21 0. 99 1. 781 37,401
F4 D13 4830 3 (. 995 4. 856 38.848
F5 D13 2760 3 3. 995 2. 746 21.968
F6 D13 4880 22 3. 995 4. 856 106. 832
F7 D13 3860 4 3. 995 3.841 15. 364
F& D13 1500 4 (. 995 1. 493 5. 972
F9 D13 4920 4 (. 995 4.895 14. 580
Fl10 D13 940 42 3. 995 0. 935 39,270
K1 D13 350 H2 3. 995 0. 348 18. 096
K2 D13 850 24 (0. 995 0. 846 20.304
D13 438,905
& &t 488.905 kg
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L3= 0.777X2= 1.554
Li= 0. Tad X 2= 1. 488
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L2= 0.538 % 2= 1,076
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Ld= 0. 680 X 2= 1. 380
3 L= 0. 781 % 2= 1. 562
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L3= 0. 606 X 2= 1.212
Li= 0. 544 x 2= 1. 088
3 L= 0, 781 x 2= 1. 562
L2= 0.779 X 1= 0. 779
L3= 0. 539+0. 582= 1. 121
Li= 0. 476+0, 520= 0. 996
& Ll= 0.572% 2= 1. 344
L2= 0. 6BEX 1= 0. 669
L3= 0. 466+0. 509= 0.975
Ld= 0. 412+0. 456= 0. 868
EEN 26,150 n
#EER X 4. 43kg/m = 129. 14 [kg 125
EfThTR 1=0. ime M 12x 0104840, 994) X 0,671 X 2= 1.370
@ 1200, 99490, 9403 X 0. 671 X 2= 1. 248
@ 172300, 99040, 867 X 6. 914X 2= 1. 652
3 12X 0086740, 7940 X 6. 914X 2= 1.518
@ 12 (1, 59341, 448 X 0,914 X% | = 1. 390
B 12X (1.447+1.302) X 0. 914X 1= 1. 250
Feinks g §.484 m2
wEE % 4S. T5kz/m2 413.60 |kg 414
=& s SUSFLER o 13 (0. 05 % 2+0, 15 2+0.20) x 32EF=  19.200
#EE x1. Ddkg/m 19,97 |kg A
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: = =T = -
Bk L # =i 5 F
NO. 1
4 F H H L] #H B | &1 &
it A ER
Em¥EEE Al 1.90%3.172 = 5.93
47 1,902 57 = 1, 88
FAM 0.8 m? 10,51
#HL =2y ) — HI18-8-25RR V1L 90X3 12X0.10 = 0. 58
V2 1,90%2.57TX0. 10 = 0, 49
R 13 108 | md 1. 08
& _| Bl Al 1.90X0.10 = 0,19
A2 3.12X0.10 = 0.31
b i 0,30 | m2 0. 50
I N —1  |21-8-%GRE V1l 0.83X0.25x1.80 = 0.37
V2 0.67X0.25X0.20X2 = 0.07
V2 0.25X 111X 1.80 = 0,50
V4 {0,67+1.23) X1/2X1.11X0.20x2 = 0.42
V5 1.75X2 01X 1.80 = 6.33
ve 0.75X0.10%1.80 = 0.14
v {0, 10+0. 73) X172 1.26%1.80 - 0. 94
VS 0. 73X 147 1.80 = 1.93
v {0.73+1.23) X 1/2X1.00%1.80 - 1.76
R
V1 0.800.80X3. 14X 1/4%1.50 = Q0,75
V20,930,933, 14X 1/4X0, 52 = 0. 35
130,950, 25X 3 14X 140,33 = -0.02
Va0, 10X0. 1043, 14X 1/4X0. 61 = 0.01
V5 0,500, 10X 1. 40 = 0,07
V6 0.6020. 18X 1.03 = -0. 44
EVEE o082 | md 10,82
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% 7T BB gt = 2N | 1 &
& 8 Al 0,82x1.80 = 1.49
AZ  0.83X0.25X2 - 0.42
A3 0.253 1 11X2 = 0, 56
Ad 0,670,254 = 0.67
A5 {0.67+1.23) > 12X 1. 11X = 4.22
AG 1,23 1.40 = 1.72
AT 0.38X1.80 = 0. 68
A8 2.01X1.75%2 = 7.04
AG 0. 750102 = 0. 15
A0 0,500, 10X 2 = 0.10
Al11 1.40X0.10X2 = 0.98
AlZ (0. 10+0.73) > 1231 26X 2 = 1.05
AI3 0. 73X 1.47X2 = 2.15
Ald (0. 73+1.23) X 1/2X 1,002 = 1.96
Ald 0.73X1.80 - 1.31
R
Al 0.80X0.80X3. 14X 1/ = -0_ 50
A2 0,920,933, 1414 = 0, 68
AR 0.25X0.25X3. 14X 174 = -0.05
Ad 0U15X0 15X3 14X 174 = -0. 02
EA B 22.55 ma 2255
i T 13 (SD345) MEFRRMIE L ©
T 186_482-= 1000 = 0. 180 1 0. 190
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=V E 5. 54 ma 5. 54
& kB A1 {0.20+0.40) X 1/2X 1. 85X 2% 3 = 3.51
A7 262X 1 95X 2X3 = 30,65
TAM 3116 md 3416
B it 133F50747~ 41 (0.25+0.385) X 1/2X 1.35X6X 1. 005
=2 0mm #2537 1. 35X 3+0. 385X 1.62X3 = .46 | m? . d6
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